Aufgabe 1

1. .9 7?7 59 = 37 O O - Ot

2. 8 ? 1 =160 O - O O+

3. 83 7 36 = 47 ki O - e

4, 10#1 = 10 Oo O_ O+

578 7 42 =120 O - e O+

0. 4 2 4 =16 O+ O- (O

1. 8 7?7 52 = 136 O - O ok
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Erganze das passende Zeichen | ANTWORTEN

Zahlen

Aufgabe 1

1. 96 ? 59 = 3% e ‘E] o
2. 89 2 71 = 160 O- 1 0
3083 7 36 = 47 O+ @ e
410 7?2 1 =10 @ O - ok

5 78 7?7 42 =120 O - O° "

7. 8 ? 8 = 3 ®- | O O+

810 2?2 6 = 60 ® | O- O+

9 5 7?2 3 =15 @ O+ O -

0 4 7 4 = 16 (O + O - o

11. 84 ? 52 = 136 - O o+

1299 2 78 = 21 O+ O | @ -
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